

# NORTH SURREY SKATING CLUB

### FREESKATE & DANCE/SKILLS

### FALL/ WINTER SEPT 3, 2024 - MAR 13, 2025

Remember to update your Skaters online information in their profile

		FEMALE:	MALE:
POSTAL CODE:	PHONE:		
НОМІ	E CLUB:		
	COACH'S PHONE:		
DANCE	ARTISTIC	SKIL	.LS
cating Club, its operators and a	ffiliated staff are not responsible	for injuries or lo	ss, however
E-M <i>A</i>	AIL	DATE:	
4	POSTAL CODE: HOMI  DANCE  cating Club, its operators and a  E-MA  aphed or take part in any form of  If you do not sign we	POSTAL CODE:PHONE:	PHONE:

Home Club Members will receive a 10% discount on Open/ non group program Ice Sessions if registered by August 23, 2024 Ice will be cancelled if insufficient numbers register early.

\*\*Please note that all sessions must be booked with the Coaches prior to registration.

Do not register before confirmation of your Coach

Total Ice Costs ( from ice schedule)	\$
Nssc Club Fee (non- refundable) (2024/2025 Skate Canada Fee \$53.00, Admin Fee \$0.35, Insurance Fee \$0.65, Safe Sport Fee \$5.00,  **Nssc Skate Canada Fee Increase Subsidy for 2024/25 Season Only -\$15.00)	\$59 -(\$15) \$44
Opt Out of Volunteer Fee All level Private skaters: Rising, Junior, Intermediate, Senior, Diamond, Open	VIEW BOND CHART FOR AMOUNT \$
Total	\$
Volunteer Cheque Bond (Nssc Private members only)  All level Private Skaters: Rising, Junior, Intermediate, Senior, Diamond, Open	VIEW BOND CHART FOR AMOUNT
Separate cheque to be post- dated for April 1, 2025. To be submitted to Volunteer Chair and will be returned when hours are completed at the end of Spring Season  Cheque will be cashed if volunteer hours are not full filled by the end of Spring Season	<u>\$</u>

Fees are payable in full at the time of registration, or in two equal payments to be sent in or with the registration form. If choosing the 2 equal payments option, please enclose a cheque current dated and one post dated Nov 1, 2024, or contact registrar for online payment. No refunds will be issued after 21 Days from the start of your program, unless a medical certificate is provided, or special permissions have been granted. All refunds from full withdrawal of programs are subject to a \$25 fee. Credit or cheque payments accepted only.

Cheques are payable to Nssc or North Surrey Skating Club \*\*NSF Cheque are subject to a \$30 Administration Charge\*\*

CREDIT CARD PAYMENTS	CHEQUES PAYABLE TO NSSC	
VISAMASTERCARD	**NSF Cheques are subject to a \$30 Admin Charge	
CARD #	\$CURRENT DATE	
NAME ON CARD	\$ POST DATED NOV 1, 2024	
SIGNATUREDATE:	\$TOTAL	
1 payment or2 equal payments		

<sup>\*\*</sup>THIS FORM IS FOR YOUR REFERENCE, PLEASE REGISTER ONLINE AT https://www.northsurrevskatingclub.ca/



## FREESKATE & DANCE/SKILLS FALL & WINTER 2024/2025

## September 3, 2024 - March 13, 2025

## www.northsurreyskatingclub.ca

North Surrey Sport & Ice Complex - 10950 126A Street (Rink3) Surrey Sport & Leisure Complex (Fleetwood) 16555 Fraser Hwy (Rink2)

	TIME		Mon. Off-Ice: Inter @5-5:45pm, Sen/Dia @6-6:45pm	Last Date		UNIT	COST
MONDAY		DATE	**Note:No skating Oct 14,Feb 17		WEEKS	COST	
	2.20 4.15 DM	Cont 00	ODEN MULTI	N/a= 10	21	Ć0.7E	¢204.75
North Surrey	3:30 - 4:15 PM	Sept.09	OPEN MULTI JUNIOR PROGRAM**	Mar. 10	21	\$9.75	\$204.75
North Surrey	4:15 - 5:00 PM	Sept.09		Mar. 10	21	\$9.75	\$204.75
North Surrey	5:00 - 5:45 PM	Sept.16	ISTER SEPARATELY FOR ONE OR TWO OFF-ICE SESSIONS (TUES. OPEN 6-6:45PM, OR JUN/INT ' CANSKATE (ALL AGES)			\$11.00	\$209.00
North Surrey	5:00 - 5:45 PM	Sept.16	TEEN/ ADULT GROUP (must be able to skate)	Mar. 10 Mar. 10	19 19	\$11.00	\$209.00
North Surrey	5:45 - 6:00 PM	Зери.10	ICE CLEAN	IVIAI. 10	19	311.00	\$205.00
North Surrey	6:00 -7:00 PM	Sept.09	INTERMEDIATE RED & PURPLE PROGRAM* *	Mar. 10	21	\$13.00	\$273.00
North Surrey		<u> </u>	IN (5-5:45PM) AND 1 ADDITIONAL OPEN OFF- ICE TUES 6-6:45PM, JUN/INTER THURS 3:30-4:15	1	l	713.00	7273.00
North Surrey	7:00 – 8:00 PM	Sept.09	SENIOR RED & PURPLE/ DIAMOND PROGRAM**	Mar. 10	21	\$13.00	\$273
rtorur sarrey		·	REGISTER MONDAY (6- 6:45PM) AND 1 ADDITIONAL OPEN OFF-ICE TUES 6-6:45PM,SEN/ DIA	1	l		7273
North Surrey	8:00– 8:45 PM	Sept.09	DANCE/ OPEN MULTI ( Star 5 & Up Dance has right of way)	Mar. 10	21	\$9.75	\$204.75
•	0.00 0.13110			IVIGIT. 10	21	ψ3.73	<b>\$201.73</b>
TUESDAY			Tues Off- Ice: Rising Stars @5:15-6pm,				<u> </u>
		0 :	Jun/Inter/Sen/Dia @6-6:45pm	DA 11		40	46515
Fleetwood	3:30 – 4:15 PM	Sept.03	OPEN MULTI	Mar. 11	23	\$9.75	\$224.25
Fleetwood	4:15 – 5:00 PM	Sept.03	LITTLE STARS (STAGE 2-6 CANSKATE AGES 4-8)	Mar. 11	23	\$11.00	\$253.00
Fleetwood	4:15 – 5:00 PM	Sept.03	RISING STARS **(TUES & THURS)**	Mar. 11	23+21	\$9.75	\$429.00
	T		G STARS: MUST REGISTER FOR TUESDAY (5:15- 6:00PM) OFF- ICE SESSION SEPARATELY**	T	l		
Fleetwood	5:00 – 5:45 PM	Sept.03	JUNIOR, INTERMEDIATE/ SENIOR/ DIAMOND FREESKATE	Mar. 11	23	\$ 9.75	\$224.25
WEDNESDAY			W 10% L C : /B: 106 45 7.20				
			Wed Off- Ice: Senior/ Diamond @6:45-7:30pm				
North Surrey	3:45 - 4:30 PM	Sept.18	Special O	Mar. 12	21	\$0.00	\$0.00
Name Commen	4.20 5.45 514	Court O4	JUNIOR & INTERMEDIATE FREESKATE			60.75	¢224.25
North Surrey	4:30 - 5:15 PM	Sept.04	(MUST INCLUDE GROUP EDGES & TURNS BELOW)	Mar. 12	23	\$9.75	\$224.25
North Surrey	5:15 - 5:30 PM	Sept.04	GROUP EDGES & TURNS ** (MUST REGISTER WITH FREESKATE)**	Mar. 12	23	\$7.00	\$161.00
Nambb Common	5:20 C:20 DNA		INTERMEDIATE/ SENIOR/ DIAMOND FREESKATE		22	ć12.00	¢200.00
North Surrey	5:30 - 6:30 PM	Sept. 04	(MUST INCLUDE GROUP EDGES & TURNS ABOVE)	Mar. 12	23	\$13.00	\$299.00
THURSDAY			Thurs Off- Ice: Junior/ intermediate@3:30- 4:15pm				
THURSDAT			**Note: No Skating Oct 31,Nov21				
North Surrey	3:45 - 4:30 PM	Sept.05	LITTLE STARS (STAGE 2-6 CANSKATE AGES 4-8)	Mar.13	21	\$11.00	\$231.00
North Surrey	3:45 - 4:30 PM	Sept.05	RISING STARS (TUES & THURS) **	Mar.13	21	-	ed w/ Tues
North Surrey	4:30 - 5:15 PM	Sept.05	JUNIOR & INTERMEDIATE FREESKATE	Mar.13	24	\$9.75	\$234.00
North Surrey	5:15 - 6:00 PM	Sept.05	INTERMEDIATE / NEUSKATE  INTERMEDIATE / SENIOR / DIAMOND FREESKATE	Mar.13	24	\$9.75	\$234.00
North Surrey	3.13 0.001101	эсрт.05		IVIAI.13	24	Ş3.73	7234.00
FRIDAY			**Note:No Skating:Nov.8,Jan.31 **PA Training Sept.13 @4:15-5:45pm				-
Fleetwood	3:30 - 4:15 PM	Sept.20	CANSKATE #1	Mar.07	16	\$11.00	\$176.00
Fleetwood	3:30 - 4:15 PM	Sept.20	LITTLE STARS (STAGE 2-6 CANSKATE AGES 4-8)	Mar. 07	16	\$11.00	\$176.00
Fleetwood	4:15 - 5:00 PM	Sept.20	CANSKATE #2	Mar.07	16	\$11.00	\$176.00
Fleetwood	4:15 - 5:00 PM	Sept.20	TEEN/ ADULT GROUP ( must be able to skate)	Mar.07	16	\$11.00	\$176.00
Fleetwood	5:00 - 5:45 PM	Sept.20	OPEN MULTI-PURPOSE	Mar.07	18	\$ 9.75	\$175.50

SATURDAY			**Note: No Skating Oct 12, Nov 2, 23, Feb 1				
North Surrey	8:15 - 9:00 AM Sept.07	TEEN/ ADULT GROUP FIGURE SKATING	Mar.08	15	\$15.25	\$228.75	
	0.20 0.007	осрио.	**STAR 1 and UP Coach Approval only**				
North Surrey	8:15 - 9:00 AM	Sept.07	OPEN TEEN/ADULT	Mar. 08	15	\$9.75	\$146.25
North Surrey	9:00 -10:00 AM	Sept.07	OPEN MULTI PURPOSE	Mar.08	19	\$13.00	\$247.00
North Surrey	10:00-11:00 AM	Sept.07	OPEN MULTI PURPOSE	Mar.08	19	\$13.00	\$247.00
North Surrey	11:00-11:45 AM	Sept.14	CANSKATE	Mar.08	12	\$11.00	\$132.00
			Sept. 01, 2024- Aug. 31, 2025 SKATE CANA	DA FEE(NO	N-REFL	JNDABLE )	<u>\$59.00</u>
			Skate Canada Fee \$53, Admin Fee \$0.35, Insurance Fee	\$0.65 Safe	e Sport	Fee \$ 5.00	
			North Surrey SC Skate Canada Fee Increase Subsid	dy for 2024	4/25 Se	ason Only	<u>-(\$15.00)</u>
			Total Shate Counds 2024/20	2F C	Manala	awahin Faa	¢44.00
			Total Skate Canada 2024/20	25 Season	iviemb	ersnip ree	<u>\$44.00</u>
						Show Fee	
			All Skaters		•		\$100
				es, photo,			•
			Ice Show ice is not included	in your ice	registr	ation cost	
						Total	

\*\*THERE IS NO 10% DISCOUNT FOR CANSKATE, TEEN/ADULT ADVANCE RISING STAR, JUNIOR, INTERMEDIATE OR SENIOR GROUP PROGRAM ICE. IN ADDITION, THE 10% DISCOUNT ONLY APPLIES TO REGISTERED NSSC SKATERS FOR EARLY REGISTRATION ONLY

#### PROGRAM PRICING:

**RISING STARS PROGRAM-** Includes payment for 2 on Ice sessions and one off- ice session. Separate billing of \$22.00 per week for Group Coaching will be billed separately.

<u>JUNIOR PROGRAM-</u> Includes payment for 1 On Ice Session and 1 or 2 off- ice Session. Separate billing of \$22 per week for Group Coaching will be billed separately. Your base Coach will bill Private Coaching lessons separately.

<u>INTERMEDIATE /SENIOR/ DIAMOND PROGRAM</u>- Includes payment for 1 on ice session and two off- ice session. Separate billing of \$22.00 per week for Group Coaching will be billed separately. Your base Coach will bill private coaching lessons separately.

<u>TEEN/ ADULT GROUP FIGURE SKATING</u>- Includes payment for specified ice session and group instruction. Must have completed Canskate STAGE 4 AND OR Parks and Rec Childrens Level 7 Ages 13+

<u>ICE SHOW FEE</u>- Includes payment for Ice, Coaching, Costumes and Photos. Ice show practice for Canskate Friday will begin Jan 17, Canskate & Teen/Adult Saturday will begin Jan 18, Monday Canskate programs start Jan. 27 All other programs start Feb 3. Schedule details to be announced

#### **HOME CLUB BUY-ON COSTS**

<sup>3</sup>/<sub>4</sub> hr- \$12, 1 hr - \$15.00, Edges and Turns Session \$7.00. Buy-on coupon books are \$60.00 for 4 hours. **If paying with cash, please bring exact amount. We do not keep money for change at the arenas. No E- Transfers** 



## Sept- Dec 2024 Dates to Remember

Tuesday	Sept. 03	Fall/ Winter Skating Season Starts
Friday	Sept.06	Facility Planned Power Outage. All programs Canceled
Friday	Sept. 13	Program Assistant Training 4:15-5:45pm on ice
Saturday	Sept. 14	Canskate Programs Start
Wednesday	Sept.18	Special Oympics starts
Saturday	Oct. 12	All programs Cancelled.
Monday	Oct. 14	Thanks Giving- All programs Cancelled
Saturday	Oct. 26	Halloween Skate 11-11:45am Bring a friend
Thursday	Oct. 31	Halloween - All programs Cancelled
Saturday	Nov. 02	Hockey Tournament- All programs Cancelled
Friday	Nov. 08	Hockey Tournament- All programs Cancelled
Thursday	Nov. 21	Jingle Blades Competition- All programs Cancelled (North Surrey Arena)
Saturday	Nov.23	Jingle Blades Competition- All programs Cancelled
Saturday	Dec. 14	Christmas Skate11-11:45am Bring a Friend
Saturday	Dec.21- Jan.4	Christmas Break No Skating!

## Jan- Mar 2025

### **Dates to Remember**

Friday	Jan. 03	Nssc Seminar (Info TBA)
Monday	Jan.06	Skating Resumes
Friday	Jan. 17	Ice Show practice begins for Canskate Friday Groups
Saturday	Jan. 18	Ice Show practice begins for Canskate Saturday and Teen/Adult Advance Groups
Monday	Jan. 27	Ice Show practice begins for Canskate Monday groups
Friday	Jan. 31	Tournament- All programs Cancelled
Saturday	Feb. 01	Tournament- All programs Cancelled
Jaturuay	1 60. 01	rounding An programs cancelled
•		Ice Show Practice for all Programs
Monday	Feb. 03- 21	
•		Ice Show Practice for all Programs
Monday	Feb. 03- 21	Ice Show Practice for all Programs (Thursday and Saturday private lesson sessions continues as usual)
Monday  Monday	Feb. 03- 21	Ice Show Practice for all Programs  (Thursday and Saturday private lesson sessions continues as usual)  Family Day- All programs Cancelled
Monday  Monday  Friday	Feb. 03- 21  Feb. 17  Feb. 21	Ice Show Practice for all Programs (Thursday and Saturday private lesson sessions continues as usual) Family Day- All programs Cancelled Ice Show Rehearsal